Geometry Ch. 4 Triangle Congruence Test Review #2
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Given: MO bisects ZPMN and OM bisccts ZPON 1. MO bisects ZPMN 1. Given
Prove: APMO=ANMO 2. LPMO = ZNMO 2. Definition of angle bisector
e | 354'0 MO 3. Reflexive property
/ 4, QMhmZPON 4, Given
5. LZPOM = Z/NOM 5. Definition of angle bisector
6. APMUD = ANMO 6._7
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B. SSS Postulate D. SAS Postulate
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Can you use the SAS Postulate, the AAS Theorem, or both to prove the triangles congruent?
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A, cither SAS or AAS C. AASoniyJ

B. SASonly D, neither
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Supply the reasons missing from the proof shown below.
Given: AB ; AC, ZBAD = LCAD Statements Re
Prove: AD bisects BC p—
A 1.4AB = AC 1. Given
" 2 /BAD = ZCAD | 2.Given
3.4D = 4D 3. Reflexive Property
4 ABAD = ACAD | 4.__ 7
5.BD = CD 5.2
6. AD bisects BC | 6. Definition of segment bisector
A, ASA; Corresp. partsof = Aare =. C. S8S; Reflexive Property
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Find the value of x. The diagram is not to scale.
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For which situation could you immediately prove Al = A2 using the HL Theorem?
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Proofs Reasons Bank (This will NOT be provided for you on the test) : Given, Vertical Angles are Congruent, Reflexive
Property, Def of Angle Bisector, Def of Midpoint, Alt. Interior Angles =, Triangles congruent (SSS, SAS, HL, ASA, AAS),
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11. (4 steps)

Given: C is the midpoint of BE, ZB=¢E, and Statement Reason
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Given: PRJ|QS, LQPS%LRSP Reasons
2. LQPS=.R5P rarame
3. £PSQ=45FR 3. Alternate Interior
| A 4. Ps=P5 4. Reflexive Property
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Prove: APQS%U

13. (4 steps)

Statement

Reason

A ()AB:CD LA=LC
2)4/9{—5 = /CED
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Given: AB =TD, 24 = £C
Prove: BE = DE
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